Fun in Mathematics

1. Do you know that 111, 111, 111 x
111,111,111 =12,345,678,987,654,321 ?

2. Do you know there are just four numbers
(after 1) which are the sums of the cubes of
their digits :

153 = 123 + 573 + 373, 370 = 3"3 + 773 + 03,
371 =323+ 773 + 173, and 407 =473 + 0"3 +
7737

3. Doyouknow 1,741,725 = 127 + 777 + 477
+ N7 + 7T + 2°7 + 577 7

4. Five most important
Mathematics in one equation

numbers in

exp(if)+1=0

5. Strange properties of 666, “The Number
of the Beast”:

The last book of the Bible, Revelations, brings
up the number 666 as being the number of
the beast connected with the end of this
age and the coming of the Messiah. The
direct reference is found in chapter 13, verse
18 of Revelations. Besides that cataclysmic
reference, the number 666 has quite a few very
interesting properties.

666 = 36 - 2"6 + 176

666 =63 +6"3+6"3 +6+6+6

There are only five other positive integers that
exhibit this property. Can you find them ?
666 =272 + 372 +5"2 + 772 + 1172 + 1322 +
1742
666=1+2+3+4+567+89=123 +456 +
78+9 =9+ 87 +6+ 543 + 21

Moreover, 666 is equal to the sum of the cubes
of the digits in its square (666”2 = 443556,
and the sum of the cubes of these digits is
473 + 473 + 373 + 573 + 573 + 673 = 621) plus
the sum of the digits in its cube (666"3 =

295408296, and 2+9+5+4+0+8+2+9+6 =45, and
621 + 45 + 666).

Incredibly, the number 666 is equal to the sum
of the digits of its 47th power, and is also equal
to the sum of the digits of its 51st power. That is,
666747 = 504996968442079675317314879840
5564772941516295265408188117632668936540
446616033068653028889892718859670297563
286219594665904733945856

666751 = 9935407575913859403342635
1134129598072385863746943100899712069
131346071328296758253023455821491848
09607489728389006376342156940976835
99029436416

and the sum of the digits on the right hand side
is, in both cases, 666. In fact, 666 is the
only integer greater than one with this property.
(Also, note that from the two powers, 47 and
51, we get (4+7)(5+1) = 66.)

Again if we assign numerical values for the
letters of the alphabet starting with A=36,b =
37, and so on, we find that the letters in the
word

SUPERSTITIOUS =666 !!!

6. Amicable Numbers

There are a few pair of numbers that have a
very peculiar affinity for each other and are so-
called “amicable numbers.” Take for
instance the pair of numbers 220 and 284.
It turns out that all the factors of 220 that is
those less than itself add up to 284. And,
surprisingly, the factors of 284 add upto 220.
Three other pairs like these : 1, 184 and 1,210
(discovered by a 16-year-old ltalian named
Nicolo Paganini), 17,296 and 18,416, and the
large pair 9,363,584 and 9,437,056. Can you
find others ?
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7.
1x9+2="1

12x9+3 =111
123 x9+4 = 1111
1234 x 9 + 3 = 11111

9x9 =281

Interesting patterns in arithmetic :
9x9+7=88

98 x9 +6 =888
987 x 9 + 5 = 8888
9876 x 9 + 4 = 88888

6x7 =42

99 x 99 = 9801 66 x 67 = 4422

999 x 999 = 998001 666 x 667 = 444222
9999 x 9999 = 99980001 6666 x 6667 =44442222

8. What day of the week were you born ?

Even though you were there at the moment of

Step 3.Find the month number corresponding

to the month you were born in from the table

below. Call it C.

Step 4.0h, the date you were bornon, call it D.
(if you were born on the 12 th, call D = 12.)

Step 5.Now add A+B+C+D. Divide this sum by
7. The remainder you get is the key to the day
of the week.

Step 6. In the table of days below, match
the remainder with the day of the week you
were born on.

your birth, you may notremember exactlywhat  TABLE OF TABLE OF DAYS
day of the week it was! Here is a little trick to MONTHS
help you figure what day that was. In fact, not Sunday = 1
only will it help you find that out, you can find January =1 July=0 Monday = 2
out the day of the week for any date you want 0in | A =3
in the 20th century. (0 in leap yr.) August=
February = 4 Tuesday = 3

Step 1. Write the last two digits of the yearyou (3 in leap yr.)
were born, Call it A. March=4 Sept.=6 | Wednesday = 4
Step 2.Divide the number, that is divide A by  April =0 Oct. =1 Thursday =5
four. Drop the remainder if there is one. Call May =2 Nov. = 4 Friday =6
this answer, without the remainder, B. June =5 Dec. =6 Saturday =0
Solution of Cross Word Puzzle

¥ (¥ |0 | N o | L Viz| & | ¥

= N ¥ | 3 N \ Tezi ¥ | @ Jze

O |¥ (Vv |[gigl3 |W |0 [N |3 | o0

A6 ds8L| 4 S d E| NLL N N ot

¥ | Osi| | S 3 d O 3 OpL| W

¥ | N O H dei| Je| H 1 Ji| ¥

1 VoLl N N | d 0] S 6| O a

O N I | 1 n 3 N g O Q¢

S 9ol ds| Z 1 | ¥ N d | 4 ¢l 1 ¢

v (v | E| E 3 | 3 Vv | v

68



